N = 0l & AF S & M AN
2083 & = 135 Lus|H|
SAIIEAIXIR A A

HHMIIATANLAY X

S| AT AN B8 (CHel: & )

SM-FH-H2A(ZAH) - MIRAY - BES Ofl AF9H J| Al Huns2

151,842 148,719 3,123

I S ALK R AN A = 39,000 39,000 0

2 112,842 109,719 3,123

125,223 120,280 4,943

IIACAIINZALS X2 [ 39,000 39,000 0

2 86,223 81,280 4,943

62,790 61,100 1,690

IIACAINSAY B8 = 19,000 19,000 0

2 43,790 42,100 1,690

JIHTAINLAISY 282 HIR 20,790 23,100 72,310

201 LEr2 Ay 16,290 18,100 21,810

01 AtRZell 16,290 18,100 A~ 1,810

Olgergl] 16,290 18,100 ~1,810

OJIHEAl 28 EB2 HME(MYSEIOI0AZ2AN) 23X 15,300,0002 15,300 17,000 A 1,700

OJIHEAl =& ZIHE T (MBRT 0|30l AR 2H0H) 23X 990,000 990 1,100 A 110

401 A& HIZ 2 THH| 4,500 5,000 500

04 Al&H| 4,500 5,000 2500

OJIYTAl WA S ST SX(MESE 0|0 AR 2N 2R 4,500,000 4,500 5,000 2500

2RYHE JIATA SUHZ2E 29 4,000 0 4,000

201 L2 4,000 0 4,000

01 AtR2all 4,000 0 4,000

ODZUME JYTAl 2022 =22 4,000,0008! * 14! 4,000 0 4,000

62,433 59,180 3,253

I T AN ALY 2 A5 & 20,000 20,000 0
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SN B SR(BH) - NRAY - BES 03] & o ol 3o HRS2

IS AIHE ALY E A5t [a 42,433 39, 180 3,253

I AINEAY =012 H+8 - 2 WS 8,208 9,120 A912

201 Et2 AL 7,208 8,120 A912

01 At=2teldl 7,208 8,120 A912

OJLEANZ=TAZSE 3T A+S(ME ST HOIHOAEZN) a8 7,208,000 7,208 8,120 A912

JIGEA OlE - F=HXSE N - & 8,400 6,000 2,400

202 O{Hl 3,000 0 3,000

01 2UWobl 3,000 0 3,000

OJIEEAl Ol d - =8XY gl N=sE ol 20,000& = 32! = 50 3,000 0 3,000

401 AIEHIZL 28] 5,400 6,000 A600

04 Al&H 5,400 6,000 A600
O Al =8 - HEXS S0t X (MO0 AR H)

&3 5,400,000& 5,400 6,000 A 600

JIHEAINEAS DB 2= 25,825 24,060 1,765

202 048l 5,971 2,000 3,971

01 =LH0dHI 5,971 2,000 3,971

OZZUMEZAl FHEZYH AW (MESEROIH 0 AE 2 NH) 2 & 1,800,000 1,800 2,000 A 200

O&& JIHZ Al AIEXIS BIXI0HY 250,000& = 2¢! = 53| 2,500 0 2,500

OIS AIHEAG A2 40| 46,400 = 321 » 12& 1,671 0 1,671

301 LEE A3 19,854 22,060 A2,206

07 212to1=204HI 9,000 10,000 A 1,000

OJIYEAIES HXIOHY (MESE 0|0 AE 2 H) Z & 9,000,000& 9,000 10,000 A 1,000

08 2EI=FH0HI 7,200 8,000 A800

OJISETAIZAR =& SHS(MYESTHOIHU A2 NH) & & 7,200,000& 7,200 8,000 A800
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SA DI A KRR A
B HHLSAAY (Y TAX AL L)

e )l =3l (Ete & P)
SN B SR(BH) - NRAY - BES 03] & o ol 3o HRS2

201 Zer2g 6,140 5,920 220

01 At=2teldl 5,328 5,920 A592

Olger==84l] 3,408 4,000 A592

ORMNE2Y SUNL(MEREOIHMAEZH) 3 & 3,408,000 3,408 4,000 A592

02 =324l 812 0 812

ol2z22 2 HA] 812 0 812

ORHEZE(SII) 1,750 = 232¢! = 23| 812 0 812

202 048l 4,320 4,800 A480

01 2UWdHI 4,320 4,800 A 480

SN2 SUAHA(MESZHOIHHLAE2NH) 2 & 4,320,000 4,320 4,800 A480




